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307 @I2tol ™ 0 6,000 26,000
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SOIAFHTEI| X Y AAH A=
25,000, 0003 #2042~ 50,000 50,000
SEHAMR| HAl 0I5A! CCTV EX ALY 12,000 12,000
401 AIEHIZL 20HY 12,000 12,000




2A:
X XH -
o e

=aak

e
A2 AU
2 yaa 22

SA - BB SRA(B) - NRAY - B2 il v ol ® o HimE=T
01 AlIEHI 12,000 0 12,000
0 Ol=4! CCTV 30H =& &X
4,000,000 *3CH 12,000 0 12,000
OIMIHX HZ 2,108,741 2,253,452 A144,711
= 1,104,676 1,102,176 2,500
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0 M2F&XI(0PF) 22 X
3,195,0002*30CH 95,850 99,000 23,150
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0 OriS= ToHOZAIEZ EXIX2 A 1,414,559 994,511 420,048
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01 AL ESHSHI 390,000 240,000 150,000
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4,751,0003 100 2 4,751 0 4,751
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(= 1,421,000 1,700,000 2279,000
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403 TS =01 7,686,000 8,382,000 A69%6,000
= 2,466,000 3,162,000 696,000
= 986,000 1,265,000 A279,000
= 4,234,000 3,955,000 279,000
02 S| 2S0ICHEH A= E 2 EFAHZ I 7,686,000 8,382,000 A69%6,000




A SEESH
H: HDISXR5
2l H2MEHDISXelE =4 (Cre|: ®M2)
S - BE - B9I(3H) - NRAY - BES il v ol H o CImE=E
0 SIS S HASAIHI(A2AAIL) 7,686,000 8,382,000 266,000
= 2,466,000 3,162,000 269,000
= 986,000 1,265,000 A279,000
= 4,234,000 3,955,000 279,000
=48 SXN==2E ZdMY 1,000,000 0 1,000,000
401 AIEHIZL 28I 1,000,000 0 1,000,000
01 AlIEHI 940,000 0 940,000
0 sE=X==E &4 Al 940,000 0 940,000
02 Zeldl 50,000 0 50,000
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01 ArR2eltl 6,225 5,225 1,000
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